
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

FLOWER MATH 

Red 6 Green 15 Blue 18 

Orange 24 
 

Yellow 36 
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  5 x 7 + 1 = 
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  8 x 5 – 4  = 
 

  4 x 8 + 4  = 
 

  6 x 7 – 6  = 
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  3 x 7 +3  = 
 

  5 x 5 – 1 =  
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  3 x 8  = 
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42 ÷ 7  = 
 

  24 ÷ 4  = 
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13 
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SOLUTION TO FLOWER MATH 

Red 6 Green 15 Blue 18 

Orange 24 
 

Yellow 36 

 
 G 

 
 G 

 
 G 

 
 G 

 
 G 

 
B 

 
  B 

 
B 

 
B 

 
 B 

           Y 
 

 
Y 

 
Y 

 
Y 

 
Y 

           Y 
 

           Y 
 

           Y 
 

 
O 

 
O 

 
O 

           O 
 

           O 
 

       O 
 

 
O 

 
O 

     R 
 

     R 
 

 
R 

 
R 

 
R 

 
R 

 
R 

 
R 

© 2006 Evelyn B. Christensen 


